I1=13.w A4 7.50M

Area of Entry approach to retail outlet
= Area of Curve Polygon(A B A1) + Area of rectangle (B B1 A2 A1)

Area of Curve Polygon(A B A1) Area of rectangle (B B1 A2 A1)
={(r1 xr2)— (wxri xr2)/4} = { Length(m) x width(m) }
={(13.0m x 6.74m) - (3.14 x13.0 x 6.74/4)} = (7.50m x 6.74m)
=(87.62—-68.7817) SgM =50.55 SgM

= 18.84 SqM

So, Area of Entry approach to retail outlet = (18.84 + 50.55) SqM = 69.39 SqM

Area of Separator = Area of rectangle (B1 C1 D2 A2)

Area of rectangle (B1 C1 D2 A2)
= { Length(m) x width(m) }

= (5.00m x 6.74m) SgM

= 33.7 SgM

Area of Exit approach from retail outlet
= Area of Curve Polygon(C D D1) + Area of rectangle (C C1 D2 D1)

Area of Curve Polygon(C D D1) Area of rectangle (C C1 D2 D1)
={(r1 xr2)—(mxrl xr2)/4} = { Length(m) x width(m) }
~ ={(13.0m x 6.74m) - (3.14 x13.0 x 6.74/4)} = (7.50m x 6.74m)
=(87.62 —68.7817) SgM =50.55 SgM
= 18.84 SqM

So, Area of Exit approach from retail outlet = (18.84 + 50.55) SqM = 69.39 SqM

Total Proposed Protected Forest Area for Diversion

= 69.39 SqM (Entry) + 33.7 SqM (Forest Area B/W Entry & Exit) + 69.39 SqM (Exit)
=172.48 Sqm

= 0.017248 Ha.

Non-Forest Land/Private Land Area as per Layout Plan

= Retailoutlet Private Land area = area of square shape plot = {side(m) x side(m)}
= (20.0m x 20.0m) =400.0 SgM

=0.04 Ha.
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